CMS 138 fo* (13 Tev)
S 10 | Dilepton, parton level . Data dof 7 =
() E o POW+PYT =21 7
o Foe ., o aN°LO, X° =47 ]
o Foms © MATRIX, X* =3 ]
=3 L . « STRIPPER, X’ =15 |
oy “Hoe + MINNLOPS, X* =6
£ 1= Total unc. =
o E o B Stat. unc. E
o E ]
5 C 1
o L i
QO
107 - E

i

100 200 300 400 500
p.(t) [GeV]
CMS 138 bl (13 TeV)
'_"> 10 & Dllepton parton level ‘ ° Data dof = 7I =
o E e o POW+PYT, X' =19 J
(O] C o & MATRIX, X’ =5 4
2 [ « STRIPPER, X’ =10 |
= [ReTO + MINNLOPS, X*=7 |
= 1 Total unc. -
a ; o I Stat. unc. é
o F ]
5 L ]
S L i
101 mikem— =
: ]
o R
3T 1.2F o 0 5 .
ajn L o %y O X 3
I 7
0.8
0 100 200 300 400 500

p.® [GeV]

CMS 138 b (13 TeV)
F"> - Dileptén,particlé level ‘ . Da{a, dof=7| B
() 4l o POW+PYT, X*=22 |
O 107 . « STRIPPER, X’ =3 3
_8_ C ~Ceox— Total unc. B
= o= [ Stat. unc. ]
e - ]
£ 107%¢ CCen E
B F 3
S F ]
107 E
z e
e ] T R
S - T T i
3% 1.2F o 0 5 =
al[a)] 1'0 oy Oy e * ]
0.8F

0 100 200 300 400 500
p.(t) [GeV]
CMS 138 bl (13 TeV)
‘_"> H Dllepton partlcle level ° Data dof = 7I b
) o o POW+PYT,X*=20 _|
o 107 « STRIPPER, X' =4 3
_8_ iow— =Ces= Total unc. 3
— L [ Stat. unc. i

O gt

e | .
g 1072%¢ e E
5 : E
2 = 3
r <R ]
107° E
F e ]
| e
- F } } ]
3% 1.2 o o $ ]
o (@] 1’0 04 — > % * ]
0.8 %

0 100 200 300 400 500

p_( [GeV]



